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Intermediate Sent-up Examination-2021 |§ =~
o e e v FEAHITEUT ISAWOT wign - 2021 A
Qe okt CHEMISTRY (ELECTIVE) E 3 ‘
T WA (fkew) g |
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Total No. of Questions : 70 + 20 + 6 =96 Total No. of Printed Pages : 28
(§93 : 392 15 @) _ {'1"-""'5
| Time : 3 Hours 15 Minutes | [ Full Marks 70
gitantaat & fad A3 - Instructions for the candidates :

1. U’W OMR J97 QA& G¥ HGAT 1.. Candidate must enter his /
' Question Booklet Serial

. Sheet.

her
No.

(10 Digits) in the OMR Answer

2 Candidates are required to give (e
anstwers in their own words a3 Jw
g .
as practicable.
s i the nght hand
3 i
e
4.

5 JF ¥ gﬁﬁ?ﬂ gl st 78 @ua-A 5  This question booklet 1s diwided nto

(IEFW-FI two sechons Section-A und
Section-B.
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0.

@ve-& 7 70 axgfre gy & fd 6.

3 &=t 35 gyt &1 3w S Afyard
21 35 ysal & sfus #1 G A W
Qe 35 &1 gl qodikd ghn ) 9AF &
f&u 1 @ iR &1 g3@1 397 33 &
fFu 3ue=y &9 U OMR ITR-TIF
5 ffu M0 wel fawey & A / FF
T 97 & g7 F1/ fFEt W g
F WgeAT / AT @nf / wg /
G AT FT OMR 3T U3% H
gqirT AT AT & Srgur giiwr
gRoTT 3T g

@vg - & 7 207g IG5 & |
geiE & v 2 o fwifa & fad
T fF=t 10 WAl & I FA
sfard & | @7 e 39 @vg 7
6 2 Fadta wyT fd mad & odE @
fo 5 arF Fifta @, fﬁ\(@ g frl
gt &7 3T AT /

3 \Qﬂ%@"d

" ! Q'
fwal g @ @gwﬁﬁ JGHUT F 8.

W:”’f ?U?'ri'a? ci’ﬁff E’ /

In Section-A, there are
70 objective type questions out of
which any 35 questions are to be
answered. [ more than 35 questions
are answered, then only first 35 wili
be evaluated. Each question carres
1 mark. Darken the circle with blue
/ black ball pen against the correct

option on OMR Answer Sheet

provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
invalid.

In Section - B, there are 20 short
answer .type questions. [Each

carrying 2 marks, out of which any
10 gquestions are to be answered

‘Apart from these, there are 6 long

answer type questions, each
carrying § marks. Out of which any

3 questions are to be answered.

Use of any electromic applrances s

stnictly prohibited.
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WUg - A / SECTION- A

aﬁﬁﬁm / Objective Type Questions
TvT WEAT 18 70 9% & UAF Uy & WG 9R fawew Ry v & fad | vw @z 2
39 gRT g7 U wEt Raew & oMR Wz av Rifer #¢ 1 fR 35 gyl &1 I
35 x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=235
1. BFEIIH FeiT das GO A fRdl TRHTO] Y 39-wewae §E H1 gl § 2

@ay 12 ‘ (B) 3
(C) 4 (D) 6

What is the coordination number in an atom in hexagonal close packed

structure ?
A) 12 (B). 3
c 4 (D) 6

2 Fcreed = | fege q’@@ ¥
- u N ,
AL~ T B) -6, 6

%Q\Q

(C)  TTEEAH-2 A6 D) A
Caprolactum is the monomer of which of the following ?
(A) Nylon-6 (B) Nylon-6,6
(C) Nylon-2-nylon-6 (D) Terylene

5 aUTETERIE ST @ Wifkedr it &

A B) I
(€L~ T D) R
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The basicity of orthophosphoric acid is

(A)  two (B)  zero
(C)  three (D) four
4. Fr=fofes & @ wet w9 a9 g o Fem &
(A) 1 MTEFE B) 1MGHH
(€) 1M difeam Fikgs D) 1M TI¥ET 562
The solution having lowest vapour pressure among the following is
(A) 1 M glucose (B) 1 M sucrose
(C) 1 M NaCl (D) 1 MK,S0,

5. frefefaa 9 & #19 saifeiees sgow ¢ 2

(AL~ *}'F‘ElFﬁ‘_'T o (B) Ui
(€) drEE. Q (D) AEEH-6,6
O
Which one of t%@%ﬂowmg 1S a biodegradable polymer ?
N
(A) Cclgg@c (B)  Polythene
(C) PV.C (D)  Nylon-6,6

N T . 1.
(A) Al (B~ Mg

(C) K (D) Ba

Dolomite mineral contains

(A) Al (B} Mg
€ K (D) Ba
[118 ] A 11014-A| Page 4 of 28

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

7. Wmﬁmﬁmaﬁmww%

(A) TR Hehvg-! : (B)  wiex Aer-! -l
(Q~ W wiex ! ozl (D) HieT Ypvg-!
The unit of velocity constant for zero order reaction 1S
(A) litre second ~! (B) litre mol ™! second ™!
(C)  mol litre™! second™! (D)  mol second !
8.  Ufuet wdlRe # 1upac 7 &
(A)  Ufwer deRe (Bl 39S U0
(C) TR HeAe (D) B g
The IUPAC name of ethyl acetate is
(A) Ethyl acetate (B) Ethyl ethanoate
(C) Ethyl methanoate (D) Methyl ethanoate

9. et feriw # g 3. O

(A) ohm cg&@’” (B) cm

(C) ohm tm (D) - cm™!

The unit of cell constant is

(A) ohm cm ™! (B) cm

(C) ohm cm (D) cem !
10. UHieH ve dfaere soirre sfufear st a9 §

(A)  FEIZe A (B)  ATgZiE—iA

() 3HH (D)~ tfgerfrerse
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Aniline reacts with acetyl chloride to form
(A)  Carbylamine (B)  Nitrobenzene

(C)  Imine (D)  Acetanilide
1. Frfefas & waq vae fofgg o &

(A)  BF, (B) BCl,

(C) BBr, (D)~ Bl,

Which one of the following is the strongest Lewis acid ?

(A)  BF, (B) BCl,

(C)  BBr, D) Bl

12, SIATZE &UT &1 9T 217
(A} 19 100 pm (8" 1¥ 1000 nm
(C) 1% 100 cm DY 1®100m

The size of collowd: ticle 18
¢ s1ze ol © g&é&' |
(B) 1 to 1000 nm

(A} 1o 100‘6
Q
(C) 1 l&Q@ cm (D) 1to 100 m
13, TefatEd § @ @9 3e & F@agHie Iwan € 2
(A) ~ CH3CH,CH,CI (B)  CH;CH,CH,CH,CI
(C)  CH,CH(CH,)CH,CI (D)  (CH,),CCl

Which of the following compounds has the highest boiling point ?

(A]  CH,CH,CH,CI (B)  CH,CH,CH,CH,CI
(C)  CH3CH(CH5)CH,CI (D)  (CH,),CCl
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14, [Ti(Hy0), P+ IF[garaig wehfa =1 &
(A T IYHT Seae & HRom
(B) 2 3Ta el & Fwror
(C) 1 argfia setee™i & swror
(D)  3gfa gl i 3rafeta & SR

[ Ti(H,0), ]** is paramagnetic in nature due to

(A) one unpaired electron (B) two unpaired electrons

(C) three unpaired electrons (D) no unpaired clectrons

15. Fafafea & @ 8 : 8 IuweEacH &1 3[R0 2

(AL~ KCI (B) . CaF,

(C)  CsCl (D) ZnS

Which is the example of @\8 coordination in the following ?

g\\
(A)  KCI NS (B)  Cal,
\Q‘b
N
(C) CsCl @$ (D)  ZnS
16. HCHO #I #ifafshar RMgx ¥ 8F T &1 &

(A) - 1° HEHEA (B)  2° 3ewhlEcd

(C) 3° 3FhEA D) &R

The rcaction of HCHO with RMgX leads to the formation of

(A) 1¢ alcohol (B) 2° alcohol
(D) cther

(C)  3“ alcohol
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17 Sl W & Tl 8

(A) i3t (B) v
©  crd Q. S
Which is colourless in water ?

A) T B Vv
C) crt (D) - Sct

18. AT aheR § e shifear % S Reie & @Y g

() T F B TEH

(C) 3ORS ¥ (D) 399 | I

In Arrhenius cquation, the velocity constant of a fcaction 1s rclated to
(A) Temperature (B) Pressurc

(C) Catalyst (D) all of these

19. 19 US &I Seferm faetgs & @ g fhar Sian € af {aeiy 3 €

(A} Cu (B} CuO
(Q- Cu,0 gg\Q&Q (D) Cu+ Cu,O + CuO
Q
When cethanol '{%&‘alcd with' Fehling solution, it gives a precipitate of
A Cu oY (B) CuoO
(C)  Cuy0 (D) Cu + Cu,0 + CuO
20. Xe V] A € WHR &1 9y I a1 & ?
(A)  wEHaw (B - -y

(€ ArsTERy D) feyE-fge

Which type of bond is present in Xe molecule ?

(A) Covalent (B) lon-dipole
(C) van der Waalsg (D) Dipolc—dipole
(118 ] A [11014-A] Page 8 of 28
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21.  25°C R fwas 0-1 M faega & gonfad 3sgag e 2= 2 & 2

Q:t}/. CaCl, (B) KCl
(€ T (D) e
AL 25°C, the highest osmotic pressure is expected by 0-1 M solution of
(A)  CaCl, | (B) KCI
(C) gIUCOSE ) . (D) urea
22, T i d asT ® 7
. HNO,
(Ay e THA B) e oHH
(C)  uiuer |EAEe (D). UfcH-SchiecT
What is the product A in the following reaction ?
HNO
C,HNH, 25 A
(A)  Ethylamine (B) Methylamine
(C) Ethyl cyanide K\QQ\ (D) Ethyl alcohol
23, amﬁumﬁé%gq@ Sidie % FeTE U S AT 76 &
(AL~ eI @ B) WitggH
(c) @ (D) ARG
Other than oxygen in Group 16 of the periodic table, the element found 1s
(A)  Sulphur" (B)  Sodium
(C) Iron (D) Nitrogen

24, T E1 QU AH-THEA FIA W A I €

(A TeHTE B) W
(C) T Ud e < (D) P
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The complete hydrolysis of starch gives

(A) Glucose (B)
(C) Both glucose and lructose (D)

25. WUt N waifve e aeg @

(A) Si (B)

€y O (D] -

Fructose

Sucrosc

Al

Fe

The most abundant clement in the carth's crust is

l."\} Sl ’ [B]

26. Uo ARG @q: g9 ¢ 99

(A) Hﬂ 3agFIm € 3 (B)

(C) \G YA € (D)
® AN

K\Q
The cell reaction &)@p(mmncous when
NS
(A) D) ll&@%{m is positive (B)
(C) AG is posilive (D)

o7 A s TyE wEiAS I

CH, - O - CH(CH,), + HI——
(A}~ CHyl+(CHy),CHOH (B)

(C)  ICH,OCH(CHy), (D)

Al

Fe

MHAaHIm

AG BUTEHSF &

@

E reduction '3 negatve

4 .
AG 18 negative

CHLOH + (CHy),CHL

1
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The major organic product of the following reaction is

CH, - O = CH(CH,), + HI

»
(A)  CHyl+(CH,),CHOH (B)  CH,OH + (CH,),CHI

(C)  ICH,OCH(CH,), (D) CHy - O-CICHy),
!

28.  Ni(CO), ¥ Ni & ifeRdientvr ded1 &
AL O By 1
€ 2 (D) 4
The oxidation number of Ni in Ni(CO), is
(A) O . B) 1
) 2 (D) 4
o iy atfeieer d g & FU1 3 Gae W A g6 g A T E

(A)  TEEEE & B) [ 7@ 5
$
e O\ -
(€) e §® (D). AFSTATH
In physical ads@sﬂon gas molecules are bounded on the solid surface b
N)
(A) chemical force (B) electrostatic force
(C) gravitational force (D) van der Waals force

30. ARZAA-6,6 €

) GiFTTES @) iR

€ uiferesiA (D) Oifctfaze

Nylon-6, 6 is

(A)  polyamide (B)  polyester

(C)  polystyrene (D)  polyvinyl
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31, Fe(CO) ®

(A) AR At (B)— e Atfieh

€ {5 wam D) 7 A FE
Fe(CO)g is

(A)  simple compound (B) complex compound
(C) double salt (D)  none of these

32. A+ B> IR % fou A W r= K[ A) B FRT @ a1 e §1 AR B #

atfues O & S ar atfufwar & wife g

(A) 2 B 1
(C) O (D) AT

For reaction A + B> Product, the rate-of reaction is expressed by r= K[ A ][ B|.

If B is taken in large excess, the order of reaction is

(A) 2 \\QQ (B) 1
c) o §® (D)  indefinite
(C) \Q@
. Q e
33. gﬁ@fmmﬁq@wmﬁmw—m;w%
(A) m-ﬁé?il (BR)_- o,p-&'lé?ﬁ
) pfel (D)  ofem

— OH group of phenol in clectrophilic substitution reaction is

(A) m-dirccting (B)  o,p-directing

(C) p-directing (D) o-directing
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39. Qf?ﬁ?ﬁ‘—li‘ﬂg?‘:ﬁqm%

(A)  THER g w By~ fg-7q7 ferit=g %1
© B3R feg & (D) 39 A FI1Z 77T
Ethylenc diaminc is an example of

(A) monodcentate ligand (B) bidentate ligand
(C)  tridentatc ligand : (D) nonc of these

35. INRA Cu(s)+ 2Ag* (ag) - Cu?*(ag) + 2Ag (s) GYH & e

(AL~ E'cell = (+)ve B)  Ecell = (-)ve
(C) Eceli=0 (D) E'cell=c

The rcaction Cuf(s)+ 2Ag™ (ag) —» Cu2+{aq) + 2Ag (s) is fecasible if

(A) E cell = (+)ve (B) Ecell = (-)ve
(C) Ecell=0 (D) . E'cell =
36. fHfcfad A @ 9 2o ol &1 e e 2
$
(A} C4HNHCH, %g\\ (B) - (CHyCH,),NCH,
N | )
NS o e~
(©) CHS(CHS_,]@ (D) 3 R FE
@ )
Which onc of the following is an example of tertiary amine ?
(A)  C4H NHCH, (B)  (CH,CH,),NCH,4
(C) CH3{CH2)2NH2 (D) None of these

37. “eig faomm | faaish smm & grawra smget @) e @ifie, afe sas s

$Hi% 25 € :

(A) 342 BM (B) 592 BM

(€C)  675BM | (D) AR q &3 g
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Calculate the magnctic moment of a divalent ion in agucous solution if its

atomic number is 25 ;
(A) 3-42 BM (B) 592 BM

(€) 675BM (D)  none of these

38. wed A F foraet s € 2
(A) 3" H 19 H ufegor (B) %9 &1 NG ° e

(C) %a &1 318 o uftetgor (D) 3 H 7a H R

Cloud i1s an example of
(A) solid dispersed in gas (B) liquid dispersed in gas

(C) liquid dispersed in solid (D) solid dispersed in liquid

39 4= 4 @ ®-91 vew-akEa g ?

(A) CF,Cl, (BJ.. . CH,CHCIBr
(C)  CH,Cl, (D) CH,CHCICH,
N |
Which onc is optically %&wc in'the following ?
Q
(A)  CF,Cl, \Q‘2§ (B) CH,CHCIBr
@Q
© CH,CL O (D) CH,CHCICH,
40.  XcF, T goidgi @t HfAd gl 8
(A) | By 2
c 3 Dy O

The number of unpaired clectrons in XelF ) 1s

A 1 B 2
(C) 3 (D) 0

| 118 1 A |11014-A  Page 14 of 28
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41.  Ge (SAGET) urg 6t N2 A 1n (30zm) ¥ 2faa F3 w@ 7 gm B

(A) n-UER &1 Ag ot (B)  p-UHR & e AATeAH
(©)  forgeriedt D) faezwrd

On doping Ge (germanium) metal with a little of In (Indium) we get
(A) n-type semiconductor (B)  p-type semiconductor
(C) insulator (D) rectifier

42. VA B TE FEA R

CO co
N— CHj @: No
(A) @E so,” (B) Y

CcO

CON Sy e w
(©) @: oM (D) ¢ ZH | ®E T

SO,

The correct structure of Saccharin is

CO CO_ .
W E o m G
(C) g @ (D) none of these

43, TS SN SIToTE @) Heper & gl €

(A)  52% (B)  68%

(C)  74% (D) ¥ q HIS I

Packing efficiency is simple cubic lattice is

(A) 52% (B) 68%

(C) 74% (D)  none of these
[118 ] A |11014-A Page 15 of 28
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aq  wuad faeEa o anE el e

(A) TR A (@) HEAEd

(C) e (D) 3 @ HrE A
Isotonic solutions have cqual

(A)  molar concentration (B)  molality

(C) normality (D) none of these

a5. Wi PRI F WE A gU A FORIRE A H - HILA B T TS

gy qrd 3T g

() ETEERET (B) TR
(C) BRI HRES (D) HoH STRIFIEE

On clectrolysis of dilute sulphuric acid using platinum electrodes, the prod}zc:
formed at anodc will be

(A) Hydrogen (B) Oxygen

(C) Hydrogen sulphide Q (D) Sulphur dioxide

46.  CHCI, +Cl, - CCl @u AfHAT H A K = [CHCL |[CL, /2 &, & 3Iwiwa
. \
e &t @QQ
(A) 1 (B) 2

(C) (D) YA

oW

In the reaction CHCI, +Cly - CCly + HCI, rate K = [CHCL)|CL,)'/ 2 then orde:

of the reaction will be

Ay 1 ' B) 2
(€) % (D)  zero
[ 118 ] A [11014-A Page 10 of 28
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47, N I B

A)  TH FEH (B) U FARELZ
(C) UF AT a7 (D) U AEZMA9 JoF 441
A biological catalyst is
(A} an enzyme (B)  acarbohydrate
(€) an amino acid (D)  a nitrogenous base
48. Nacwﬁmqummﬁﬁﬁémﬁm% ?
(A)  Ag (B) Ti
(C)  Zn (D)  Sn
NaCN solution is used in the extraction of which metal'?
(A)  Ag (B) Ti
(C) Zn (D) _.Sn
49. 1s%2522p%3s2%3p* TS T fFg o w1 e 2
(A) EPFﬁ'fFf (B)  3iedeH
(C)  TEW \\Q&Q (D) wrIfEEw
S
Which element h ectronic configuration 1522522p6 3323‘;;;4 ?
(A) Chlorinﬁ§ (B)  Oxygen
(C) Sulphur (D) Potassium
50. FYINTE
(A)  COCl, (B)  CoHsCIN,
(C) pH3 (D) CHCIJ
Tear gas is
(A)  cocCl, B)  CyHsCIN,
(C) pH3 (D) CIICI3
[118 ] A [11014-A Page 17 of 28
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51, vire e & ferg oarl A W fequ gt faan o aren 714 @

(A @lferan B) A
© 3wl (D) 3 @ HE A

Gas uscd in filling balloons for meteorological observations 1s
(A) Hehium (B) Neon

(C) Argon (D) nonc of these

52, HR &GV & gA®

(A)  KCLMgCl,.6H,0 (B)  FeSO,.(NH4),S0,.6H,0
(C)  K,S0,.AL,(S0,),; 24H,0 (D). /§H | I3 &I

The formula of Mohr's salt is

(A)  KCLMgCL, .6H20® (B)  FeSO,.(NH,),S0,.6H,0

)  K,S0, A%ﬁhz-«m? (D)  none of these
53. @ARE F ﬁmﬂz gz foard €

A (-2 -ns?p° B)  (n-2)f" % (n - 1)dO1ns2

€ (n-2)"n-1d""ns? D) (n-2)d%(n - 1)/ 4np

The general electronic configuration of lanthanide 1s

W) (-2, -1s?p° B) (=2 n - 1)d01ps?
€ (n-2)f"*n-1ad'%ns? D) (n-2)d N -1y fi4pp®
[ 118 ] A [11014-A Page 18 of 28
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CHCl + 0, —% , + HCI

&

(A)  CO, | (B) Cl,

(€)  cocl, (D) ¥ & FI T

The main product of the reaction

ciel, < o, 8t + HCI

1S

(A)  CO, (B) Cl,

(C) COCl, (D) none of these

55.  HO-CH,- CH,-OH &I @ LUPA.C. 98 &

(A)  I9F-1, 3-HA (B)  WIUHA-1, 2-BEHTH

(€C)  34H-1, 2-BEHTA \\QQ (D) 379 ¥ &g el
The correct LU.P.A. %mc ofHO - CH, - CH,-OH is
»

(A) propan-%@\%l (B) propan-1,2-diol

(C) cthane-1,2-diel ' (D) none of these
56.  AAfoeERS AeHRIE KCN ¥ Afafrar wt a1 ¢

(A) CgH;CH(OH)CN (B) CE'I-IS(ZDI-I(OH]COCf)H5

(C) CeH5CH(OH)COOH (D) CﬁHSCH(OH]CH(OH]CBHS

Benzaldehyde reacts with alcoholic KCN to give

(A)  CgH CH(OH)CN (B)  C¢H CH(OH)COC(H,

(C) CﬁHSCH(OH]COOH (D) CﬁH5CH[OH}CI—I((L"II-I)CEH5
I 118 ] A [11014-A Page 19 of 28
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n N |7 yE AT §
57. e @ + Cliy—=C=Cl T + HCI  uqd

(A)  CHETER (B) A=l FNIES

(C)  a=TeT FARIIS - (D) 39 @ HiF TE

O |

1l > , .
In recaction @ + Cli4—C=ClI ..M ......... + HCI, the main product 18
(A) Acclophcnone (B) Benzyl chloride
(C) Benzal chloride (D) none of these

x : T o 7
S8.  CH,NH,, (CH),NH, (CHy);N 3R C,HNH, & fushas pi, 1 7 81 &

(A)  CH,NH, ' (B)  (CH,),NH
(C)  (CHy)3N (D) _CsHgNH,

Which onc has the greatest value of pK, in CH;NH, , (CH,4),NH, (CHj3);N anc

C,HNH,?
‘\\Q® . B)  (CH.),NH
A CHNHy (B)  (CHy),
Q‘G
(C)  (CHy)3N \@\ (D)  C,HgNH,
N
50  U@TRE - HUHSH G.Sdl &
(A) U&H (B) Q":ﬁ:ﬁ HA
(c) et (D)  3eHR™
Peptide on hydrolysis gives
(A) Amine (B) Amino acid
(C) Ammonia (D) Alcohol,
[ 118 ] A [11014-A Page 20 of 28
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60,  T®AT B o frads ay sitvfaar a1 Aoz amen 2

A)  tReefeeere B)  ofgzer

€) wnifegens (D) A=A

With which of the following phenol reacts to form bakelite ?

(A) Acctaldchyde (B) Acctal

(C) Formaldchyde (D)  Chlorobenzene
61. FRMEREST 1 Iuan = wA-dt St d feran s & 2

(A Heifen (B) ZEARES

(C) el (D)  SEFATEd
Chloromycctin is used in the treatment of which of the following diseases ?
(A) Malaria (B) Typhoid

(C) Cholera (D)  Tuberculosis

62. WINdH UFk A difes @ forgen suaht fsfefea o feg O & o §

ST & ?
(A) ST N (B) AIDS

. & e
(C) \HMEH FHRT N (D) FH ¥ B T

S

Tranquilizers arc Aemical substances which are used in the treatment of which

of the foliowing&cascs ?
(A) Cancer
(C) Mental discases

63. faeAfenEa & & I Al [ 8 ?

Which onc of the following is an example of emulsion ?
(B) Butter

(D) Jelly

(B) AIDS
(D) None of these

(A) Panccr

___(©  Mik
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O4.

. d{ Bl ez €
L op ¥ oo atfufsear am o+ =

stfafaar 34
2 d(A]
TSIEE -‘1—5—1 ~ B T3 7de
d(4]
() ~:]_;-il—$—l D)  *+2 gy

(A) - % %—f—] (B) -% Elld?‘l
o -+921 o +282
65 Cd2t Ag’ IR et 1 WFE HuEA fawa (E7) FEA: - 040V, + 0-80 v #R
044 v B 31 Fre H G VG SUEREE B € 2
(A)  cd* (B)  AgT
(C)  Fe2* (D) 379 | HIg I
The standard reduction potentials (E°) "of Cd?*,Ag* and Fe2* are — 0-40 .
+0:80Vand-044V rc%si&tivcly.-Which is the strongest reducing agent ?
(A)  Ccd?* Q\Q‘&\% (B) Ag*
(C) Fe?* @$ (D) none of these
66. 25 U UUARE 3T (CH,COOH) % 75 T §~1 & faeras =i Rieterar anit
(A) 0-556 molkg ! (B) 5:56 mol kg~
(C) 556 mol kg'! (D) 556 mol kg-!
The molality of a solution of 2-5 gram ethanoic acid [CH;;COOH) dissolved n
75 gram benzene is
(A)  0-556 mol kg! B) 556 mol ke"!
(C) 556 mol kg! (D) 556 mol kg-!
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67. frd @ EaE o Yl # I

RO 7
A H0 (B)  NaCl
(C) CrO, D) o,
Which one of the following is an cxample of ferromagnetism ?
() H0 (B) NaCl
(C) CrO, D) O,
68. A SZERIRTES F Y& e T ¥
(A) A (B) UERTA
(C) S=iF - (D) T W FE T
The COrrc‘ct commecrcial name of carbon tetrachloride is
(A) pyrene (B) pyrrole
(C) benzene (D) none of these

60 STl T Iurtyd Iwfigdl H el e

(A)  EIGH \\Q@ (B)

(c) TR Q§‘§ (D) ¥ § HTE TR
N

The impuriti@;rescnt in ores are called

(A)  slag (B) gangue

(C) flux (D)  none of these

o e A fed S & Ol EH @ EE 2

A)  NiZ* (B) Cu’

c) s (0)  zn*
Which of the following ions is expected to be coloured ?
(A) Ni2* (B) Cu*

) sc* (D) Znt |

[118 | A | 11014-A] Page 23 of 28

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

WUy - ¥ / SECTION- B

oY I Wy / Short Answer Type Questions

mmjﬁzoﬁgaﬁﬁa#fﬁﬁ'?wwﬁﬁ'mifm?‘_mzaﬁ
Fraifer & : ‘

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 qu

10 X2 =20

estions. Each questior

carries 2 marks : 10 % 2=20
1L vieslIw i o 2
Whalt is Schottky defect ?
2. Frafefad oftads &9 gs s s ged & 2 2
FARITYT | 2 |
How can the following conversion be carried out ?
Chloroethane.to Butane.
3.  HyPO, &l T 1§ ? Q 2
What is the S[I‘UCT.UI’C@‘IBPOQ ?
\Q‘G
4. ﬁaﬁa%aﬁu§ 1A G TH & AT I @ H FhY R ¥ o )
Why 1s the vapour pressure of aqueous solution of glucose lower than that ot
water ? |
5. T WEE ;L 7 1
What is food preservative ?
q 7
6, W e 5
What is roasting ?
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10.

12.

U 38R 1 § - TR & [y

What is Chzyme cataly

qug | 2

818 ? Explain with example.

”:’@"E”Wﬁ Stufar =6 wvar 21 o A1 ’ 2
Anilin .

¢ docs not u“dergﬂ Friedel-Crafis recaction. Give reason.
IR IEE SEIT g 2 5

What is lanthanide contraction ?

mm » . ~ B ol
ﬁﬁﬁ%wm%zoom-! ¢ @ 3 AhEE w1 HEEE

e | 2

The rate constant for a first order reaction is 200 sec™!. Calculate its half-life.

TSHIAEISE S ¥ 9 w7 gued )

What do you mean by glycosidic linkage ?

fea & Afret % 1upac T foE

(i [CoCl, (NHg),]Cl

J

hJ

(i) Ky [Fe (CN)g ] Q
.. W
Write the IUPAC nam %@S} the following compounds :

(i)  [CoCl, (NHQ%@Q
N

(i) Ky Fe (Gl ]

e s @) e o o AR Rt s

How will you convert acctic acid into methylamine ?

I Tl & eI U4 FEYAIE 98 EH &Id & | wHe |
Noble gascs has very low melting and boiling points. Discuss.

w1 A fF & 9 H widY @ohe &1 faqad @ s ¥

]

ka

b

Can you store copper sulphate solution in a zinc pot ?
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]

16.  Fafefea ot @ sowife frarg fiad

(1) Sc(Z=21)

(n) Cu(Z=29)

Write the clectronic configuration of the following elements :
(1) Sc(Z=21)

() Cu(z=29)

o . . )

17, Uiy ok wiste & s wme w51 ‘
Diffcrentiate between methanol and ethanol.

18.  FHT znO (W) H T w73 g7 dem T4 & AL ? :

Why does white ZnO (solid) become yellow on heating ?

19. o T m- Al FI G T p-IRAANAAA F7 ToiAioh Td faeraar 3= F 2
faaemT wife | 2
p-dichlorobenzene has higher melting point and solubility than those of o- ar:

m-isomers. Discuss.

20. FHEH wmmﬁmﬁmmz ?
Q
Why does ozone act as‘g;bowcrful oxidising agent ?

O
ﬁd‘@@ﬂ W7 / Long Answer Type Questions
¥ wEEmr 21 #26%3?????!??!&??39??;%‘3??? | 9w & v
Sls
83x5-=15

Question Nos. 21 o 26 are Long Answer Ty '
pe Questions. Answer
: any 3 questions. Euo”

queslion carries 5 marks :

3IX35=1>

21. mmmmm.i,mmm[msoﬁﬁﬁj
HATE 7 -

2} + 2

lHow does acidic potassium Permungunate regct with f;
(i) SO, ? ) Ferrous sulphate and
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s
Gy y: s
f@ﬁ Uidda,s H¥eigm T} 370

T W ferrg: b =
i etz ot i

Ch”_r.,(‘“{] — Pl
HONT?
(i)
H,C = CH, + Br, ((IL)
(1) (:‘I O A with
(b) SOOI conc. 150,
YTARY 7 a5y SR .
o T, T A 3t i g 3 2
omplete . . o
" ¢ach synthesis by BIVINg missing products
1 C.H
61sCHO HCN
W HyC=CH, +Br,Ca_,
(iii) @: COOH A with
COOH  conc. 11,80,
b .
(b) Explain why Propanol has higher boiling point than that of butane
23 '
(a) M%ﬁmwmwmmﬁmn 3
(b) Fr=AfeRtEa # puEr .
p \\@nnm%mﬂmﬁﬁmm 1+
(1) In # _&ﬂw‘%
i) B @%ﬂ’qﬁ Si
(a) State Henry's law and mention some of its important applications.
(b) Classify “each of the following as being either ptype or n-type
scmiconductor : h
(i) Ge doped with In
(ii) Si doped with B
24. (a)  [NiCl, > ! Al s 2
, . o :
(b)  [Cr(NH,)e|** SF{raiehi & sl (Ni(CN), |2~ wfepaaa ¥ =it 2 23
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. oy 12—
(a) Give the geometry of |N1(,14| .

' : : 2- :s diamagnctic. Why ?
(b) [Cr(NH ), I** is paramagnctic while [Ni(CN)4 )™ 18 d g

25, HIEIRIESZ FA1 § 7 AT ATkl HY |
What are carbohydrates ? Classily them.

26, (a) ﬁmﬁf@ﬁﬁﬂwﬁﬁ%ﬂé@mﬁwww
i) faeer ToiEeiel &AM AgNO, 1 STl faera1
i) @iz ol & A AgNO, P STl fererd |
(i) wifeam 3eaiEl & WY CuCl, T S faera= |
(b) A iz # stlE @ aid-arg 10 ¥FS &1 hiEaE F I T -

1 & am w® 9E ° ead 999 dmm ?

16
(a) Write the products of electrolysis in each of the following :
(1) An aqucous solution of AgNQ, with silver electrodes.

(11) An aqucous solution of AgNO, with platinum electrodes.
(1)  An aqucou%&@lution of CuCl, with platinum electrodes.
N

(b) The halfrlifc@nd for a first order reaction is 10 sec. How much time

it take u;@(lucc theinitial concentration of its i-lf—)th value ?
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